Ww@m’lﬁﬁm%mwﬁfﬁwﬁﬁ
wﬁaﬁﬁﬁqtm%iﬁsﬂmmﬁmm%?
1) T
@) e &

- @) Tt &
@) T &
(5) ST < =

nwméﬁmﬁ]ﬁﬁwﬁwﬁ'?mﬁm
¥
A
(2)
©)

(4 Indore

il Wthh of the following is not part of the
Panchayat1 Raj system in India ?

' (1) Zila Parishad
(2 Gram Parishad
(3 Gram Sabha
(4 Gram Panchayat

i (5) ~ Not attempted

Whom did India beat in the Finals of Asia®

2023°?
(1) Sri Lanka
(2) Nepal
(3) Pakistan
. (4) Bangladesh /f

When natural Products gy,
forms through ways of

are chap
anged i
known as : Manyf,, nt0 othe,

Cluring, it ig
(1) Tertiary sector

(2) Industrial secty,
(3)  Primary sector
(4) Secondary secty;
(5) Not attempted

In which district of y,q,
Khajuraho Group of Moy, Y2 Pradesh, are

ment:
(1) Chhatarpur ns locaeq >
(2) Jabalpur
(3) Gwalior

(5) Not attempted

4 ;‘ Where is the National Gallery of Modem ¥
iy located?_ | _
' (1) New Delhi

i (2) Kolkata

7 @) Mumbai

i @ Nagpur

W \‘(‘5)‘ Not attempted

One Day Cricket Tournament held in e

(5)  Not attempted

AR

B qﬁ%ﬂaﬁﬂ |

5. :-Wﬁaﬁzozsﬁa@ﬁﬂqumﬁa@a
: Wwﬁwﬁm&wmmw
(1) HieE |l
(2) A
) il
) R
(5) SWAIHARS

HANTV /F2 N

25 e Fef 2arrt | SPACE FOR ROUGH WORK J



6.

g T 7 o o ¥ I Hee & g S

6. In which year did the United Nations ador
Wﬁﬂﬁé‘\‘?‘ N ST the UN Guidelines for Consumer Protection
(1) 1985 (1) 1985
) 1990 (2) 1990
(3) 1986 (3) 1986
4 1987 (4) 1987
L) e N TR < e (5) Not attempted

N e fer §2 7. Where is Salar Jung Museum located ?
(1) ﬁﬁ{ (1) Mysore
@ = (2) Goa
(3) S (3) Bhopal
(4) TR (4) Hyderabad
(5) ST < W (5) Not attempted ¢
Qe Wil & SR H frafefes e W TR | g consider the following statements abo
ST | FhF T H W T & 2 Democratic Governments. Which stateme
(1) T AR S 6§ H is'not corrcct
Fﬂ?ﬂ%l (1) Democracy is also known
' 3 45 - representative democracy
@ S il ﬁ il (2) Democracy guarantees universal ad:
2 franchise
(3)  iIehda | TR <h 19 et whi et e (3)  In democracy people have power to el
S SAUFR B T | their leaders
Aehas ohl ST9as & ©9 H oY GTHTG‘HT %\ .(4)' Democracy is also known as Oligarc]
(5) Wl o 9ed (5) Not attempted
9. T=E H ‘Hien U’ = ] AT 8 ? 9. Why Earth is called the ‘blue planet’?
(1) =ifr 398 Siem B (1) Because it has life.
@) =HAifw Jest w1 91 Wi T i Tﬂ'-ﬁ kvl (2) Because more than 91% of the Earth
covered with water.
eI 2 | i ;
@ i e (3) Because it is blue in colour.
s il s (4) Because more than 71% of the Eartt
((,4] 9ot i 71 Ffwm § eHfers ot | ~ covered with water.
AT 7 ) (5) Not attempted
(5) ST <A =R
10. In which year did Gandhiji arrive in India fr
10, iR =i st @ e § R A § 9w e South Africa ? |
g7 (1) 1917
/M: 1917 (2) 1921
e 1921 @) 1907
@) 1907
(4 1915 ((‘;)) ' 11\1915 ;
= ot attempt
..H___LELW Tl <A1 =ed pte
ANTV 1 £ T e O o e | GPACE FOR ROLIGH WORK




11.

w“ ) ‘{Wﬁﬁﬁ-a; aifersy =y Fruifa ot & fou fafewn 11. To decide India’s poutical
A 1927 ¥ usp ayrn =t S o, et g btem - L0 Englang

o . in 1927, which wag heade:
1) Y (1) Lord Hastingg
AN o e (2) Lord Simon
(2) o€ 9EEa (8) General Dyer
(38) S SRR ' (4) Robert Clive
(4) A FATST (5) Not attempted

(5) SRR I =
12. Correctly match the folig

12. gafad i : List - I L

(A) Ryot (I

-1 T R
(A) J L2 (C) Nij (1) C
B) ) Wit : I
(©) - II) ¥ st YA O Tt e (D) Ryoti V)
(D) \_qv) e it 9 et T .
ﬁmmﬁ i'ﬁﬁn@rwmw : gf];g;s:e the correct a;
(1) (A)-(ID), (B)-(11), (C)-(IV), (D)-(1) (1) (A)-(m), (B)-(11), (C)

(2) _(A)-0), (B)-0V), (C)-(11), (D)-(I1L) 2) (A)-0), (B)-(IV), (C)-
(A)-(1V), (B)-(111), (C)-(11), (D)-(I) (3) (A)-(IV), (B)-(I1), (C
(4)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(ILI)

@) (A)-1), B)-(1), (C)-
(5) SR TEl T AR (5) Not attempted

13. f=d IElﬁl I ﬁmﬁ SIC ISR Q’NW%? 13. Which continent has tl

(1) - STHIsHI : countries ?
(2) <feor STHdEn i (1) Africa
TiREn : (2) South America
/(2 . ! (3) Asia

(4) Europe
(5) Not attempted

(5) SUXAE <A =Rd

14. g ael @ ad sfedl Soe ST I € 2 14. The finest cricket bats
(1) =2-3= wood ?
@ foeh - 98 (1) Banyan tree
(2) Willow tree
) 8% ~ 74 (3) Palm tree
(@) e -gu

(4) Pine tree

(5) B A He (5) Not attempted

. HANTV /F2 =16 1 6 o0 Tars / SPACE FOR ROUGH WORK



5. G wefEn
1 B s I S SR Wiy 3 ferepe fe A
Afectial gr wemn s @, frw wrfa

16. 3 T S et fore ) et # 95w &1 6 °

W H ST g 2
(1) Tl
(2) e

PO
4 N L
(5) ST X =
epfaa: _ B 2
(1) SSHH
(2) 3T A1 AR

YA

4) &Wa

(5) SR AE oAl =ed

17. T 3 TR 6 WA A S ©

18. ﬁmﬁaﬁaﬂﬁ@rﬁqm%maﬁﬁmm

(1) 98.4°C
4 98¢
(3) [1353@
(@) [IBTC
(5) SR el & =ed
22
(1) g
y2 e T HIRHT
3) ferdredfer

4) AT TR ORI
(5) TR & AR

Jo. it i e T A B 2 |

15.

16.

17.

18.

19.

Khabar Lahriya, a newspapcr run
Dalit Women in Chitrakoot
Uttar Pradesh, comes out in whi

language ?

(1) Pishoni
(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red lit
blue are in nature.

(@ N eutral

(2) Acidic or Basic
(3) Acidic

(4) | Basic'

(5) Not attempted

The normal temperature of human

(1) 98.4°C
(2) 98°C
[@)lliss°e

Sl 37rC

|

(5) Not attempted

Which of the following helps in ¢
blood ?

(1) Platelets

(2) White Blood Cells

(3) Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which i.s the most common c¢
communicable diseases ?

(1) =AE-TdT
b A (1) Dragonfly
- mm (2)  Ant
(3) Housefly
@) waH CoC|| (4)  Fruitfly
(5) o AE & AT (5) Not attempted

=0 1 o fe1C 2ol / SPACE FOR ROUGH WORK
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20.

21.

22.

23.

q wSnfEt S uw fair A # @ ot € 9%
FEd B
(1) Haem=
) wnfres
(B) gEiw
4 foqw
(5) o e 3 =ed
Fr=ferga § | 3741g 1 =94 B
(1) @&
2) wifsTH
43) W
(4) e
(5) SO AE a1 =R
T - 17w 7T Hef 1 ahrer - 11 H T T 7ei &
1y Gl TS |
I II
(A) AR R i e )
(B) (1) TSI e
(C) A (I11)
D) . fo=dr Iv) ehievel aren
Her fashcd ﬁﬁl'q %
(1) (A)-(D), (B)-(0), (O-1V), (D)-(1)
2) (A)-(), (B)-11D), (O)-0), (D)-(IV)
@) (A)-(11), (B)-(0), (C)-(D, (D)-(1V)
4 (A)-a11), (B)-(1), (©)-(1), (D)-(IV)
(5) =X 78l oA =ed
=HTe - 1 7 feu T #al Sl e - 11 % feu T4 AL
% @72 gAfad Hig :
I II
(A) feramy
(B) 4 II) <hdsh
(©) 111) Sy
D) TEH V) SrRrsie
qﬁfaqnq’raawﬁﬁﬁa—étmaﬂwaﬁﬁq:
(1) (A)-(1), (B)-(11), (C)-(1V), (D)-()
(C)-(11), (D)-(1V)

2) (A)-(0), (B)-011),
@  (A)-1), B)-0), (C)-(111), (D)-(IV)

(A)-(111), (B)-(I), (C)-(1V), (D)-(I1)
=7 72T 21 e

20.

21.

22.

23.

Species found only iy y

known as : Pa,

(1) Endangered

(2) Endemic

(3) Rare

(4) Extinct

(5) Notattempted

Select the non-metal frop, y,
(1) Iron

(2) Sodium
43) Sulphur

(4) Copper

(5) Not attempted

Match the items given in ,
those in Column - IIL

I
(A) Chloroplast 10
(B) Rhizobium (I1) £
(C) Cuscuta (11 1
(D) Pitcher plant (V) I
2
Choose the correct options bel
1) (A)-(), (B)-(10), (C)-V), (
@) (A)-(), (B)-I1), (C)-1), O
3) (A)-(11), (B)-[), (C)-(11), (D
(4)  (A)-(m), (B)-(1), (C)-(), (D
(5) Not attempted
Match the items in Column -]
Column - II :
I

(A) Typhoid i v
(B) Hepatitis A i) F
(C) Malaria () B
(D) Wheat rust v) P

Choose the correct answel
below :

(1) (A)-a), B)-, (C)-IV) (L
@) (A)-m, B)-m), ©)-m: ©
@) (@, ®-o, ©-u. O
(4)  (A)-m), (B)-(), (O-(IV) (ol
(5) Not attempted

(5)

P s |
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g s s 100 kmﬁ@SEﬁfﬁ'ﬂqm%?ﬁ

24.
TS THR uill
A1) 20 fFRH. /e b
(2) 500 fewHl. /s
(3) 20 HiE/HA
(4) 20 Y/ w
(5) SR TE o =
25. ﬁmﬂ‘aﬁaﬁﬁ@rw—mmmmww%?
(1) i
(2) I
@) =
[ETIE]
(5) SR I =Rd
26, Tl 7 ! F HRO A S
(1) famac
2) faa® D
@) faETA
4 fofEB
(5) TR IMARE
o7, e T s S e o HA & <
%,ﬁ%_’_'_wm%l | |
(1) Tt
2 W
TSl ;
(4) v
(5) ST <A R
28. Erfafad # @ HF a1 s § et I 7 2
/6 e ,
(2w
(3) It
4) weE
< 8 21 =red

(5)

24.

25.

26.

27.

6

28.

)

If a body covers 100 km in 5 hours it
will be :

(1) 20 km/hour

(2) 500 km/hour

(8) 20 meter/hour

(4) 20 centime_ter/ hour

(5) Not attempted

Which is the best conductor of heat fi
following ?

(1) Silver

(2) Aluminium

(3) Wood

(4) Kerosené

Not attempted

Night blindness is caused due t
deficiency of :

(1) ~ Vitamin C
@ Vitamin D
(3) Vitamin A
(4) Vitamin B
(5) Not attempted

Cockroach breathe through network
tubes called _

(1) Diaphragm
(2) Stomata
(3 Gill
(4) Trachea
Not attempted

Which of the following is not a deficie
disease ?

(1) Goitre

(2) Scurvy

(3) Anaemia

(4) Malaria

(5) Not attempted




29. Ftafen & & 9 o e o il e &2 29. The planet which appears reddish in cq,

(1) BNED 185
| T (1) Venus
(2) Mars
S
B) g 3) Earth
(4) ™ (4) Mercury
(5) SWE T ERY

(5) Not attempted

30. e - 1 fy o w9 whvem - 10, few o e

80. Match the items given in Column - T wjt,
= T Rfe = those in Column - II :
I- (9= 3i) II - ( feram) I - (Digestive Organ) II - (Process)
= (A) Small Intestine (I) Chewing of fogq
e j;ﬁ aﬂvﬁ\ SRR (B) Large Intestine (II) Churning of foq
B) % IS 1 ferete (C) Stomach (Il) Absorption of
C) - N (IIT) SIS T STesIHY] food
@) T (IV) ¥t 1 S (D) Mouth (IV)  Formation of
& e 3T : faeces
(1) (A)-(), B)-av), (O)-(), (D)-() Choose the correct options below :
= B-[), B-W), (©)-m), D)) (1) (A)-{m), B)-(v), (C)-[, (D)-()
)  (A)-@V), (B)-(1), (O)-(1), (D)-(I) (2)  (A)-@m, (B)-v), (C)-(1), (D)-(1)
(@)  (A)-0V), (B)-(1), (C)-(m), (D)-() () (A)-v), (B)-(I1D), (C)-(1), (D)-(11)
(5) ST R o AR | (%), A)-v), (B)-(1), (C)-(I1), (D)-(11)

5) ‘Not attempted
31. YT 3R 39 a1 < Freewd (1) st () o

To T el = W A g =T 3 WA 9 9 | 81, Two statements are given, followed by tw
3 fimt 3 0 7 v A &, ol ¢ R w /R conclusions (I) and (II).

Assuming the

~ e statements to be true even if they seem to
frreRY feu T e o STER R qehETd freperen at variance from the commonly known facts
5 /ﬁﬁﬁﬁ%l decide which of the conclusions loginllly
: - 5%[ Tt ¥ follow(s) from the given statements.
- gl &) Staf:ements :  Some dogs are fishes.
: o gﬁq A Some fishes are birds.
e : Conclusions : irds
L ey :2) Some dogs are birds
! Some bi dog®
(1) o (1) R (on) A e € (1)  Both N B o
Oth conclusiong (T) and (I1) follow
7 4 faed (1) &R A 2 (1) fehoran 2 () Neither conclyg
H ©f conclusion (1) nor (1) follows
(3) e e (1) frere () Only conclusion (1) follows
(4) e e (1) e & | )

Only conclusion (II) follows
Not attempted

HANTV / F2 % BT & U A /SRACEFOR PR T TETT—————

(5) g E & Hmed (5)




32.

33.

34.

39 faeheq & 997 BN S AW U5 ¥ 3 YR Heitva

§ 99 THU 9% 95 U § weifd R
W:W::“{ﬂ;ﬁ?ﬁ_
(1) Wi
(2) CEWES
R
@ =T
(5) ST o Rd
fomm =1 == SifSw)
(1) T
() T
B) HIR
EaE)
(5) ST & =R

= SHISH 31&RI % T I Al v § e T
T Seasl ¥ 39 HANH 1 99w e SR
31&R] Rl HaEerd it TR Teh STgu eg o |

. NS S AT G

s . 2s -3 7 GRAT 58 6i6

(1) 3,5,4,2,6,1

2,6,3,1,4,5

5,4,2,1,6,3

3,5,6,2,4,1

T <A1 =R

©)
(4)
)

35, fz UF Fifda FEOS F MUSSOORIE’ i

‘OTURQNTHG’ fer@1 vl 2, il SHt esmT o
DELHI’ &I 771 feran simem ?

32.

33.

34.

35.

Choose the option which is related to the thir‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria : : Rat: __ 2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue
(5) Not attempted
Find the odd one out.
(1) Sparrow
(2) Parrot
(3) Pigeon
(4) Kiwi
Not attempted

()

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

Lt N frids BGRA BRI g
a0 AagEEA s
1) 3,5,4,2,6,1
2 2,6,3,1,4,5
@) 52 ILGS
4 3,5,6,2,4,1
(5) Not attempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1) FCNFK (1) FCNFK
(2) FCNGJ (2) FCNGJ
()}) FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) JM 7 21 =ed (5) Not attempted
ey 70 14 3 fe10 22rTel / SPACE FOR ROUGH WORK SN



N

5 il T SR & TRt fed T g9 o S S | 36. Read the following information to answe, the
A*BH g ‘g A E R question below : '
) ’ | i ]
A$Bm3¥yj%;‘A,BﬂﬁQFﬁ%’| A * B means ‘B is the brother of A”.

‘A is the wife of B’.
A#B S ; ) A $ B means ‘A is
39 § B, A®IgAR| A # B means B is the son of A’.

a’ﬁ:: ‘P $ Q * R # S’%) a\fﬁﬁmWﬁqWEW If ‘P $ Q * R # S? then, Whlch Ofthe fOllow'm,_
T 8?2 ! \ g
statements is true -
M R Qwfmg (1)  Ris the father of Q
@A S QR (2) S is the nephew of Q
@) S, PHRER (3) S is the son of P
)ﬁﬂ’ R, P& W ¥ | (4) Ris the father-in-law of P
(5) SWE & ERY (5) Not attempted
RS PR 4 RERE L 1 T FIT 37. Find the missing term __?  in the series.
() 5l % 2 e 8 2R S B SR
2 =2 (1)
LI @ -2
S o (32
5) R S
38. TRAI24 m TR=H H SR @ & 915 T T TSH (5) Notattempted

24 m TeTdl & 39 IS I8 9 ST gt © 3R 16

8 : 38. Sarita walks 24 m towards West, then turns
m T T 1 T T A ST TSR 24 m Fewil & | to her right and walks 24 m and then turns

e 31a 319 TR foig & ferdt 5T qen ferg fowm her left and walks 16 m. Again she turns

F¥7 hgr leijt and walks 24 m. How far and in which
1) 40m, W direction is Sarita from her starting point?
: (1) 40 m, North
d/[z?/ ’ (2) 40 m, West
(3) 32m,3W (3) 32 m, North .
(4) 48 m, I¥=H 4) 48 m, West
(5) SR el <A A (5)  Not attempted

39. @EfEP, Q,R, S, T U IHH XYL HTh Th

: 39. SixfriendsP, Q, R, S ingin
ifer o e oTavad 76l ¢ f S FAH A | sP,Q,R, S, Tand U are standing
T H T, a row facing North but not necessarily in ¥

pr A R R F AL T Q) T A same order. P’ is to the left of T° and to ¥

‘S & o1d & AR ‘S, el SRE QT right O‘f "R’- ‘Q’is on the right of T’ but to %

. E:‘it of S’ who is to the left of U’ Who are
ghbours of ‘Q’ ?

(1) T#RS () TandS

(2) RARR (@) PandR

3 THRU (3) TandU

(4) PpemT 4 PandT

(5) I AR & AR () Not attempteq

HANTY / F2 7% @14 @ fe1C Zerret | SPACE FOR ROUGH WORK W



40 Rt & safes frdt 981 ¥ R METIR ! §1 | 40. Priyanka’s birthday falls on the third Friday
: of a month. The fourth day of that month is

el 7 ﬁm,ﬁﬂ el 1 qeel A e | foe the first Monday of the month. What is the
3 e 1 feis e date of Priyanka’s birthday ?
(1) 22 (L) 2aHs
@ 15 (2) 15th
23 (3) 23rd
4 21 4) 21st
(5) SW T o =ed (5) Not attempted
41. (o.5><o.5+o.5+5)smrﬂ%; 41. (0.5%0.5+0.5+5)isequalto:
(1) 035 (1) 035
2) 045 (2) 0.45
[3) " 0.15 3 0.15
0.25 4 0.25
(5) S® &l &1 9ed (5) Notattempted
42, FEEENS 2p,5pTN7 pH LCM. 3. 42, ’iI‘Sh.e L.C.M. of three numbers 2 p, 5 pand 7 |
(1) 75p . (1) 75p
/‘2‘) 70 P3 (2) 70 pd
) e0p , (3) 70p
4) 65p 4) 65p
(5) W T < e : (5) Not attempted

i - 43. F hich sum, the simple int: t at th t
o mwmsg% af aﬁzgaﬁﬁw or which s e simple interest at the ra

3 1|
of 32% per annum will be ¥ 210 in 27 years

T 210 €72 3
4y 2,800 ' (1) 2,800

(2) ¥2,500 2) 22,500

(3) 1,580 @) %1,580

(4) 2,400 (4) %2,400

(5) T A e (5) Not attempted

44, Afz o g b3 fumt quich ¥ @ # 4 HH-TTAd | 44, Ifaand b are two distinct integers, then whic
%7 of the following is incorrect ?

(1 a+0=0+a=a (1) a+0=0t+a=a
(2) a-0=a#0-a (2) a-0=a¥0-a

(4) a-b=b-a

/(91) a-h=bh-a
(5) Zat A &A1 =R (5) Not attempted

A= +t @14 o fe10 7Tel | SPACE FOR ROUGH WORK Page 1




5. T e ) o wry
mm%jwﬁﬁWWﬁmﬁaﬁﬁmwﬁﬁ
R’W@mmﬁmw I 1179 Sired
Sy, T S g
LR TE [

2. 2:3
&)
Sl S
() W7 5y

s wwmmiﬂﬁﬂm%(ﬁ%%aw%l
R HN 1 T W § o
(1) 13:8
R 138510
(3),~10:13
/8:13
(5) SW & < TR

47. 10 mx 10 mx 5 m fommsif aret oy & vt w1 gy
Il T § T BT e
(1) 1042 m
/‘4) 53 m
3) 15w/§m
@4 15m
(5) SR o =Ed

48. feoreH ami §, T 800 I AT 10% At Fehglg <A
F W H, T926.10 B ST Selfsh =11 Hfd SRS
Hafo el & 2
v(1.) 2%3&

1
2) 2—2-?=Tﬁf
1
1
(4) 1§aﬁ
(5) Il & “ed

45.

47.

48.

R

A certain number is divided into (y,

such that 5 times the first part acde ::"”‘.
times the second part makes 7 Ii""!H)Il ;
number. The ratio of the first pary i l:lr
second part is : I

W e
@ 2:8
@ 2:1
4) 5:11

(5)  Not attempted

Half of a certain number is equal to 5, i
the second number. The ratio of the f,,
number to the second number is :

() LGRS
(2)NT3 0
(S)RSTONELS

4 8:13

(5) Not attempted

The length of the longest rod that can be place
in a room of dimensions 10 mx 10 m x5 mis:

(1) 10y2 m

2) 5/3m

B)  15/3m

4 15m

(5) Not attempted

In how many years will a sum of 800 at 10%
per annum compound interest, compounded
semi-annually become ¥ 926.10 ?

1

HANTV /F2

2% @1 o feTe TrTet / SPACE FOR ROUGH WORK

(1) 23 years
9 1l
(2) 7 years
1 1
(3) 3 years
@ 1=
5 Years
(5) Not attempted
),ﬁ
Dané




00 eftex gy e it & frgm W gy e el
srqqa 3 ¢ 1 31 T fiam /R g sl mren sy
oy & ST 4 ¢ 1 B ST 7 ‘

49.

1 i e

(2) 6 FR
/(31/ 7 e
(4) 4R

(5) S E & e

0 9_2_5(22 :1__0__(_)1 T A H T, I B
e iBi] 0.1 + 0.02

/41

A

9

@ 3

5

5 E

41

@ 13
(5) W TE < <R

4
51. =fe feredl g a1 forsh et 3ok 3 T 1 5 T

2, 4 29 O § oy wfawe €
lU

(1) 255%
i

@ 333%

@ 162%
3

1

y/ 20=%
2

(5) = e = e

20 litres of o mixture containg milk and
in the ratio 3 ¢ 1. The amount of milk
added to the mixture so as to make the
S L

(1) 5 litres

(2) O litres

(8) 7 litres

(4) 4 litres

(5) Not attempted

49,

0.2 % 0.2+ 0.01

’ g YA 10 ive
50. Simplification of 0.1%0.1+0.02 &
8
i o
o e
2}
i 5
@ 3
il
S

(5) Not attempted

4
51. If the selling price of an article is 7 tin

3
cost price, then the profit % in the trans
is &

(1) 25 -:ql- %

@ 331%
3

(3) 16 -g %

4 20 L %
2

(5) Not attempted
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1
52. A‘qaw?m‘wz W10 69 # 9w ¥, B seht

" ofaworkin 10 days, B can

52. Acando 7
aﬂ?fwm%umamﬁzofﬂm%mcw dc 1
1 . k in 20 days and C cando
& 3 T 13 fAd ¥ A A i s ofthe ot Who can complete tl:
. rk in 13 days. Wh ‘
ﬁmﬁmmwﬁmw%? zfjrk in minimum time ?
) C '
i (1) €
: A QT C 3 (2)  AandCboth
A
@ B @ A
: 4 B
(5) ST & e (5) Not attempted
53. 3Afg (a+b) : (b+c) : (c+a)=6:7:8 H%TT. 53. If (a+b) : (b+c) :'(c+a)=6 % 0 B
a+b+c=14% Wc?: a+b+c=14,thencis:
(1 8 (1 8
(i) 24 . 2 14
3) i @) 6
5 IW T o AR il
(%) (5) Not attempted
1 o1 C ¥ et T =R T 50,000 T
54 ALB RRIe TR 54. A, B and C together invested ¥ 50,00
Ife AT B ® T 4,000 31fYe T @41 B 7 C ﬁ business. A invested ¥ 4,000 more t
Z 5,000 e @, @ T 35,000 & FA @Y H and B invested ¥ 5,000 more than C. O
AH VTR total profit of ¥ 35,000, A received :
] 213,600 (1) %13,600
2 T14,700 (2) 14,700
(3) ¥8,400 (3) 8,400
4) T11,900 (4) 11,900
(5) SW &l 2 =ed (5) Not attempted
55. T&h TR 1;@? % 20 wet wrewit &1 /s ¥ | 56, ﬁlclf.rl;l/gges 20 metres in a second. Its
ﬂ Tlﬁ . 1S
1) 36 (1 36
@2 20 (2) 20
72 . 4 72
(5) A A Awd (5)  Not attempteq




s Choose the alternative which best expresses

the given sentence in Active Voice.

The. invitation cards will be sent today.
)/Y)/They will be sending the invitation

cards today.

2) They will send the invitation cards
today.

3) They will sent the invitation. car.ds today.

4) They will have sent the invitation cards
today.

(5) Not attempted

7. Choose the most appropriate alternative to fill
in the blank. ’

The noise comes from the river.
(1) over
((21 across
(3) against
(4) Dbesides
(5 Not attempted

8. Find out the correct indirect speech of the
following sentence. ; -
He said, “Do you know German ?”
(1) He asked me if 1 knew German.

2) 1 asked him if he knew German.
/(,3‘)' He asked me to know German.
(4) He asked me if he knew German.

(5) Not attempted

Find out the part of the sentence which has

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Notattempted

Fill in the blank with the appropriate option
given below.

62.

If you no confidence in self, you
are twice defeated in life.
/(41 have
(2) having
- (3) - has
(4) hadnot
(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

63.

caught red handed.
(1)

‘Caught very late

" Caught while doing the crime
(3) Caught sleeping

(4) Caught easily

(5) Not attempted

an error.
If he is a millionaire  he would help 64. Pick out the correctly spelt word.
: (a)- . (b) '/(,;)" minipulatiop o
the Millennium Project in the future, - ES; manipeulation
(c) d) manipulation
1) (o (4) menipulation
2 (@ (5) Not attemp-ted :
@) (a)
@y (b 65. Choose the most appropriate option to fill ir
5) Not attempted the blank.
Many beggars sat the wall of the
0. Find out the antonym of ‘absurd’. temple.
(1) =~ sane (1) along
‘)2() refuse 2y in
(3) silly (3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
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T PR 1 3 o e e

(1) el v 3, e =i o

@) @WW%WWI

8)  nRarsis, &g #?
ngrﬂ‘@%Iﬁﬁﬁﬁﬂﬁgﬁmnﬁl

(5) ST & =

67. 'ST9 v ¥ A 7 ¥ a3 Y ot &
fore e 3w s -
A favawda

() fovareRr

(3)  fovmwem

(4) fower

(5) SR M

68. ‘ﬁﬁwmﬁ%ﬂﬁw%.

.

71. ﬁmﬁamﬁﬁﬁﬁwwﬁwmi
(1
2 @&
/(3% A
(4) <
(5) et i e

72, “Sef ST Wi A Tl 3§

73. TR fohg W1 a1 ol T T @ 2
Ly

m%@mm%ﬁqmﬁwmw -
% 3) wfaffy
e 4) 9
o E (5) ST < =t
M
4) 1 74. Qﬁa3ﬂt3ﬂa7ﬁﬁﬁq3ﬂ3%q¥"Gm§;ﬁﬁq$y
(5) SR TR & e 27
69. e S e T T TR ] S oA 2; SN ::;{
(1) dATEAFGE e
(2) oo g A fiRT | S : S
(3) o UreHH FTT (F) W A
" g § arfyen o BT 6 T 3 ey
5) S e o A |
(5) | 75. Swﬁa—mﬁmmwgﬁw
70. ‘Wﬁ’ﬁﬂﬁ%?ﬂﬁﬁﬁfﬂ—ﬁ%ﬁ%: . \
(1) o+ (1) E@ﬁﬁm
@) w+wd (3) mm‘l‘@!ﬁr%
(4) 7+ @4 M) ag-@ﬂ?ﬁﬁm
(5) I e & Aed (5) T
s v 5 v it SPACE FOR ROUGH pomr—
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76.
aﬁﬂﬁﬁaﬂmmﬁrﬁa‘faﬁmﬁmw%?
5,300
(2) 4,200
(3) 6,500
(4) 6,000
(5) R T M =
7. ﬁaﬁwm@aﬁam%aﬁuﬁﬁmﬁﬁ@ﬁm
R feeR wIfST 1 -
(@ @, eia # fed g
o T dATEd s
S B @ BT/ Y I T ¢/ 7
(1) (2) 3R (b)
(@) AT (a) ARAR (b)
9 (a) |
(4) o (b)
(5) SR Tl o =ed
8. eﬁwnaﬁwﬂmm@umﬁgamm
e Tohan gfae € 2
(1) 50%
‘/é)‘ 45%
@) 65%
(4) 55%
(5) SO & =R
79. AN Siv a1 faard 3 % fog wfeg Suearw

eyl frg o § feea 872

\)})fﬂaﬁ

(2) G
(3) =aw
4) HHATA

(5) =W AL T =Rd

76.

77.

78.

79.

How many villages are approximately co
currently under the scheme ‘Mahara G

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
4) 6,000

" (5) Not attempted

Consider the following statements in re
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s i
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a)only

(4) (b)only

(5) Not attempted

What is the approximate percentage of
population of the total populatio

Haryana ?

(1) 50%
(2) 45%
(3) 65%
(4) 55%

(5) Not attempted

Bhainswal Kalan, famous for giving sportsr
to Haryana and to India is situated in wh

district ?

(1) Bhiwani

(2) Sonipat

(3) Rohtak

(4) Karnal

(5) Not attemptled



80. frfafed § ¥ wH-m v s wfeen @ | 80 gf };1;122 Women Hockey players ?
et o fore < < @ 2 (1) panchkula
X REETl @) Shahbad
2y NIEIes (3) Faridabad
/(};/ R (4) Gurugram ;
) e (5) Not attempted
(5) SR TRl o AR 81. Consider the following st.atements.
: (a) Masani parrage is in Rewari dis;
81. frfafea Fui W fa=R W' () Kaushalya Dam is in Pinjore.
(a) ﬂ'ﬂﬁ"fﬁﬁ?ﬁl‘éﬁﬂﬁﬁ%l Which of.the above statement/s i
b) e st fisie & fem € correct ?
ST B A FHE-T1/ W FH WG /82 (1) Both (a)and (b)
/ (a) 3R (b) S (2) Neither (a) nor (b)
2) TR (o) dRAE (b) Gl (&) °n115’
© & s
(4) %o (b)
(5) SW T QT e 82. Which of the following is not a dance fo
' Haryana ?
g2, T & F-a gRa 3 T W €2 (1) Loor
,,,U)f ,’q{ 2) Khoria
afen - (3) Talghadi
: et (4) Phag
:2 ik () Not attempteg
() IR AH A A 83. In which year Haryana was made as ¢
fledged State ?
g3, i fg o O O (1) 1971
AN 1971 ' (2)' 1963
(2) iggg T B 1962
(3) 4 1966
@) 1966
‘ | 84, Ho : ,
g4, efamon H faman fagr 4 firaerd ELK thev:enil: Iga\rl;iiznpsabha Constituenci®
(1 92 ' (1) 99
(2) 94 (2
Mﬁ (3; Z:
() T e ::) 19
) Not attempteq
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(3 W= ot
4 Ta= yoreit
(5) SRR o =ed

7. ﬁnﬁf@aﬁﬁmwaﬁ?@ﬁwmﬁ

e 3 Y T S R € 2
(1) feur

@ faw

(3)

4

(5) R I =

88. TR FH WA TY FATE?

Ny &=

(2) =
&/- aH1er fetor
(4) @

(5) <O e & =ed

85. Who amongst the following former
members was an IAS Officer of He

Cadre ?
(1) Mata Prashad

(2) Subir Dutta
(3) P.C.Hota
(4) S.K Mishra

(5) Not attempted

86. Which amongst the following is not
network system of Haryana ?

(1) The Yamuna system
(2) The Indus system
(3) The Bhakra system
(4) The Lift system

(5) Not attempted

87. Which one of the following districts of
shares border both with Punj

Rajasthan ?

(1) Hissar

(2) Sirsa
(3) Kaithal
(4) Jind

(5) Not attempted

88. The State Animal of Haryana is :
(1) Camiel
(2) Tiger
(3) Black buck
(4) Elephant
(5) Not attempted
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gst the following is not , :

89. fr=fafagy L i i mon y
i b ;;ﬁ P~ BT 5y qRaReh TR &2 IY;;;:H:S traditional attire ?
(1< ' (SRR
() = € i
(3) Pagri
(3} w (4) Chunder
4 I (5) Not attempted
(5) S TR A =S
90. Where is Bir Shikargarh Wildlife San
90. SR RIS Sl a1 et srafier &2 located ?
(1) HaFen (1) Panchkula
Q) FW (2) Karnal
3) e : (3) Kaithal
4) \—Tﬁﬁ 4) Jind
(5) SR (5) Not attempted
01. ‘=ify y 91. What is the one-time cash amount give
oy ;:m%é 75 PR Tt = e Tt s o the “Kirti Chakra” awardee ?
I (1) ¥75,00,000
(2) %25,00,000 (2) <25,00,000
3) ¥51,00,000 (3) ¥51,00,000
(4) ¥1,00,00,001 (4) ¥1,00,00,001
(5) SR oA AR ~ (5)  Notattempted
92. oI IS é:ﬁﬁ‘f@iaiimi &2 92. Where is Chinkara breeding centre locat
c/(,y)/' ORAL, Gl (1) Morni, Panchkula
@ %% R (2)  Kairu, Bhiwani
(3) fel, FEA ) Pipli, Kurukshetra
@ R (4) Hissar
5 A S L () Not attempted
: : et aTareer 93. W . ; 4
03, Sa AT e Efe A ¥ 103523 S Indian Instityte of Manager
(1) ferr W n Haryang 7
BhiWan'
(2) - BE () Karnay :
(4) T 4)  Rohtax
(5) STl <A e ) Notattempteq
HANTV/F2 ?ﬁﬂiﬁf.ﬁ:‘%ltﬂenﬁ/ SPACEFOR ROUG
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4.

I5.

96.

97.

o 3 2 e el e e SR g i
firg oA W A §?

(1) T
2) SRR
(3) THAENIR
TG
5) SR el o Sed
et 3 T g % e 52 el 7 w9 42
(1) S e
(2) TIREN TET HS
(3) RN I HIe

y Wﬁﬂmmﬁﬁ'

(5) SR TE o Sed

T = S g Fretarey § 9 T st gt
qr?

ALy e ST S A e
(2) T Teg fHE iR SiRTE
(3) e e ST SRTots
(4) STENR W Sl S TS
(5) TR S AR

e e
e # afere’! % w9 H wAE S ?

(1) e AR
(2)" < HTETER
(3) TR WIEER
(4) TEUHTRER
(5) TR L A =

94. Two most important monuments of the S
‘The LAT and the Humayun Mos ?
located at which place ? i

(1) Kurukshetra
(2) Naurangabad
(3) Fatehabad
(4) Mahendragarh
(5) Not attempted
05. Identify the place where Guru Gobind
stayed for 52 days after the battle wi
Kings ?
(1) Dhamtana Sahib
(2) Gurudwara Lakhan Majra
(3) Gurudwara Kapal Mochan
: (4) Gurudwara Damdama Sahib
(5) Not attempted
96. The Third Battle of Panipat took
between :
(1) Shah Alam and Muhammad Sha
(2) Guru Gobind Singh and Aurangz
(3) Nadar Shah and Aurangzeb
(4) Ahmad Shah Abdali and the Ma
(5) Not attempted
97. Which day of every month is celebra
“Tithi Bhojan Beti Ka Janmadin Schc
Abhinandan” ?
(1) 3% Tuesday
(2) 4th Tuesday
(3) 1St Tuesday
(4) 2nd Tuesday
(5) Not attempted
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98. YId
awgﬁmqﬁzfﬁ’%ma‘me
B . 30) Bftrer e # gfron 7
(1) 3
(2) swEal
(3)  HEel
( iEsn)

(5) ST < =R

99, BRI T5T it Tk T A - faeran Som & s A
foreTferfian o T e Hif |
(@) 21 o ofi g arfere omg it et 77
(b)  TEH T 1,800 Wfa Ag v oo S g |
S § ¥ FH-1/ o @ 8/E?

(1) () 3R (b)
(2) T4l (a) IRTE (D)
W(a)

4) o (b)

(5) ST @l A =@

100. T Tod T SIS (shoE.edl.) FanH Frfafad
e R e HIfST
(a) SRATTH <ft T S FAE & Sttt

g AfF T
eree o ST S <, g & Sh.eE gL
3 a1fe B
Wﬁ@aﬁﬂ-ﬁ/ﬁﬁm'ﬂﬁ%/%?
(1) (a) 3T (b) T
) Wa’l(a)aﬂﬂfé(b)
3) F9d(2)
(b)
(5) ey A &A1 =
.0o00"

98.

99.

100.

e India’s Environmen
the rank of Hary
tainable Devel

As per th
what 18
achieving sus
(SDG-2030) ?

(1) 6th
(2)
(3)
(4)
()

8th
lst
grd
Not attempted

Consider the following stat
Widow Pension Scheme - a S
the Government of Haryana.

A woman of age 21 yeas
eligible.

() It carries an allowance c
Which of the above stater
correct ?

()

(1) Both (a)and (b)

(2)  Neither (a) nor (b)
(3) (a)only

(4)  (b)only

(5) Not attempted

Consider the following stateme
State Domestic Product (GSDI
(a) GSDP of Haryana is mc
Karnataka.
GSDP of Maharashtra is
of Haryana.

Which of the
ab
correct ? ove stater

(®)

(1) Both (a) and (b)

(2)  Neither (a) nor (b)

(3)  (a) only

4 (b) only

(5)  Not attempted
~00o0-
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